Skovde BA

Mandag 24 Br HCP 2021-08-23

Partavling, 6 bord, 12 par. Antal brickor: 24. Medel: 120.0.

Plac  Par Poéng % Namn MID Klubb
1 1 153.1 63.80  Anders Brodin - Arnold lvansson 18577 7721 Stenstorps BK
2 4 149.1 62.13 Sven Lindell - Alice Lindell 3591 15239  Tibro BK
3 7 144.5 60.20 Bengt Franzén - Bo Carlsson 40074 34268  Skovde BA
4 6 140.7 58.64  Bjorn Rosén - Soren Lundin 17229 1860 Skévde BA
5 11 124.7 51.98 Mattias Axner - Per-Olov Torngvist 63678 1862 Skovde BA
6 10 124.2 51.73  Lilian Helgeson - Birgitta Patzschke 86915 23957  Skévde BA
7 8 115.8 48.26 Géte Bergsten - Ingvar Akesson 40057 86475  Skovde BA
8 9 108.8 45.33 Kent Eriksson - Inge Wilsson 91807 43366  Skovde BA
9 5 103.7 43.21 Maria Toérnblad - Mia Kjellgren 84547 26451  Skovde BA
10 12 94.2 39.24  Claes Stymne - Leif Karlsson 88217 88220  Skovde BA
11 3 92.0 38.33 Ceve Eldh - Hakan Gustafsson 4244 14554  Skovde BA
12 2 89.2 37.15  Anna Syberfeldt - Tommy Ranta-Mikkula 40068 7338 Skdévde BA
1 494 Basta kontrakt 2 41093 Basta kontrakt 3 4 K1084 Basta kontrakt
Nord vE 3¢ N =110 Ost vDKn74 34 O =-110 Syd vK1076 4v S =420
Ingen ¢ D98542 NS + 1085 ov 4 653
#EKN75 & ¢ v & NT #EKNn10 & ¢ v o N #E10 & ¢ v &N
432 4EKN1087 N 6 9 6 6 6 442 4 K865 N36876 4DKn92 4653 N 5 10107 7
vKD943 ¢75 S6 96 6 6 vE63 v2 S 36876 vD8 vE%4 S 5 10107 7
¢+ K3 ¢+ E106 074767 ¢E4 ¢+ KDKn93 097 466 4972 ¢E4 O7 3366
#10983 #D62 V647867 #KD8654 %932 V97 46¢6 #KDKn8 #97652 V7336F6
&« KD65 & EDKn7 o E7
v Kn10862 v K10985 v Kn532
¢+ Kn7 ¢ 762 + KDKn108
*K4 &7 *43
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
8 6 4v V-3 ¢2 150 90 10|10 5 3vS= ¢A 140 100 00| 4 3 2¢v N+3 ¢A 200 10.0
10 5 34 0-3 +J 150 90 10| 4 3 4aV-1 vQ 50 80 20| 2 11 3v N+1 %2 170 7.0
4 3 3¢ N= v7 110 6.0 40| 7 12 24V +2 vQ -130 50 50|10 5 2v S+2 ¢A 170 7.0
9 1 240-1 *7 50 40 60| 9 1 24V +2 v4 -130 50 50| 7 12 2v N+1 «6 140 4.0
2 11 Pass 20 80| 2 11 34V +2 v] -150 1.0 9.0 8 6 Pass 1.0
7 12 3vS-3 43 -150 0.0 100| 8 6 4V +1 vQ -150 10 90| 9 1 Pass 1.0
4 495 Bésta kontrakt 5 « ED53 Bésta kontrakt 6 4 Knl0 Bésta kontrakt
Vast v 972 5NT V =-660 Nord v72 5¢ OD-2300 Ost v Kn64 54 S D -3-500
Alla ¢ EKn42 NS + D10 ov + E1085
»E862 & ¢ v & NT »K6532 & ¢ v & NT #KD53 & ¢ v aN
«4DKn74 #E108632 N2 51 0 2 4Knl0 a- N7 4 3 1010 4 E63 48742 N85 356
vED106 vK54 S25102 v 109653 v DKn84 S 7 4 3 1010 vEKD3  v10975 S 85366
+10 + K86 09 8 111111 ¢ E932 ¢ K875 06 99 33 ¢ KKn643 ¢ 72 O5 8 107 7
#KD109 #Kn vV 9 8 111111 #ED #Kn10987 V 6 9 9 3 3 *6 *E84 vV 58 107 7
oK & K987642 4 KD95
v Kn83 vEK v 82
+ D9753 ¢ Kné4 + D9
#7543 LY #Kn10972
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 7 44 0= v3 -620 80 20| 5 4 54S= T 650 100 00| 1 7 1le V= v4 -70  10.0 0.0
8 12 44 O= +3 -620 80 20| 1 7 4e4N= v3 620 80 20| 3 11 1e V+1 4] -90 6.0 4.0
9 2 44 0= *7 -620 80 20| 8 12 34 S+2 ¢A 200 6.0 40| 8 12 1le V+1 4] -90 6.0 4.0
5 4 44 O+1 .7 -650 40 60| 3 11 34 S+1 vT 170 40 60|10 6 1¢ V+1 4] -90 6.0 4.0
3 11 44 O+2 +3 -680 1.0 90| 9 2 2vV+2 *2 -170 20 80| 9 2 1le V+2 &K -110 20 8.0
10 6 44 O+2 v8 -680 10 90|10 6 4v V= *5 -420 0.0 100| 5 4 4v 0= *9 -620 0.0 10.0
7 « E53 Bésta kontrakt 8 4874 Bésta kontrakt 9 483 Bésta kontrakt
Syd v42 44 S =620 Vast v 1064 3v N =140 Nord v D86 3v ND-1-100
Alla + EK3 Ingen ¢+ E104 ov + EK87
#DKn973 & ¢ v & NT #EDKn4 & ¢ v &N #9862 & ¢ v aN
aD 4 862 N 104 5 109 « KDKn32 496 N6 6 96 6 4 EKKN104 4975 N2 4822
v KDKn105 v876 S 104 5 109 v EKn3 vK S 66 9 6 6 v 1092 v3 S 24832
¢+ DKn9764 ¢ 1052 038834 +76 ¢KDKn852 O 7 7 4 6 7 + DKn93 4642 088485
»8 & EK62 V 38834 #1073 #9862 V77467 *4 #EKKN1075 V 8 8 4 8 5
4 KKn10974 4 E105 4 D62
vE93 v D98752 v EKKn754
+8 493 + 105
#1054 »K5 »D3
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
6 5 5vDV-3 ¢A 800 100 00| 1 12 2v S+1 7 140 80 20| 2 8 3vS= «4 140 10.0 0.0
1 12 44 S= 8 620 80 20| 6 5 2v S+l 7 140 80 20| 9 3 4eV- +A 100 80 20
11 4 49 O-2 +8 200 6.0 40|11 4 3vS= K 140 80 20| 6 5 4vS-1 *4 -50 6.0 4.0
2 8 24 S+2 vK 170 40 6.0| 9 3 Pass 40 6.0| 1 12 24 V= v6 -110 40 6.0
10 7 34 S= vT 140 20 80| 2 8 4vS-1 +6 -50 20 80|10 7 34V= v6 -140 1.0 9.0
9 3 26 0+2 *4 -130 0.0 10.0|10 7 24 V+3 vT -200 0.0 100|11 4 34 0= vA -140 1.0 90
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10 4 ED7 Basta kontrakt 11 4 ED962 Basta kontrakt 12 & KKn1087 Basta kontrakt
Ost v K7642 4v S =620 Syd vE9%4 3¢ VD-1100 Vast v 987 ANT V =-430
Alla + K95 Ingen + K4 NS +32
#D5 & ¢ v & NT #1062 & ¢ v & NT #K65 & ¢ v & NT
486543 4 Knl0 N 7 7 108 8 103  KKn54 N85877 454 « ED93 N3 2242
v 105 v D98 S 7 7 108 8 v 87652 vKn S85877 vKnl1052 D6 S32242
+1076 ¢ E843 06 6 355 410876 ¢ DKn93 058565 ¢ EKD108 +¢ 64 O 1011109 10
*732 #EKKn10 V66355 +D9 #EK85 V58565 D7 #EKn842 V 1011109 10
& K92 & 87 462
v EKn3 vKD103 v EK43
¢ DKn2 ¢ E52 + Kn975
#9864 #Kn743 #1093
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poéang
7 6 264V-3 ¢5 300 100 00|11 5 2vyDO-4 #4 800 100 00|10 8 2NO= v3 -120 100 0.0
11 5 24 O-2 9 200 80 20|12 2 INS+1 v7 120 80 20| 7 6 3NV= aT -400 6.0 4.0
10 8 2y N+2 A 170 60 40| 3 1 INS= v8 90 50 50|11 5 3NV= a7 -400 6.0 4.0
3 1 2+40-1 9 100 20 80|10 8 INS= *T 90 50 50|12 2 3NV= oT -400 6.0 4.0
9 4 2+4V-1 v2 100 20 80| 9 4 INO= a7 -90 20 80| 3 1 3NV+1 aT -430 1.0 9.0
12 2 24 0-1 9 100 20 80| 7 6 34N-3 vJ] -150 00 100| 9 4 3NV+1 a7 -430 1.0 9.0
13 D5 Basta kontrakt 14 476 Basta kontrakt 15 ~E76 Basta kontrakt
Nord v6 34 O =-140 Ost v 107643 44 OD-1100 Syd vE75 2NT S =120
Alla ¢+ ED754 Ingen + K5 NS + EK43
#109842 & ¢ v & NT #Kn1083 & ¢ v & NT #KD2 & ¢ v & NT
« EKKN96 #1042 N4 9535 4« D109543 & KKn2 N 10106 4 7 K84 « D105 N6 9 8 88
vK9532  vKn7 S49535 v KKn95 v D82 S 10106 4 7 v 109 v KKn84 S6 98 88
¢ KKn ¢ 106 084897 ¢ 74 ¢ E83 023694 ¢+ Kn75 ¢+ D2 07 45565
&Kn #EKD753 V94897 *6 D754 V13592 #E10865 #Kn974 V74555
873 ~E8 & Kn932
v ED1084 vE v D632
49832 + DKn10962 + 10986
»6 #EK92 3
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
1 10 3#0-2 ¢9 200 90 10| 4 2 5¢DS= &6 550 100 00| 4 2 2NDN+1 #3 890 10.0 0.0
4 2 4e V-2 v6 200 90 10|11 6 5¢ S= 6 400 80 20| 1 10 2NN= v8 120 70 3.0
8 7 44 0-1 v6 100 6.0 40|12 3 3#S+1 9 130 6.0 40| 9 5 2NN= &7 120 70 3.0
11 6 44 V= v6 -620 30 7.0| 1 10 44DV-1 ¢K 100 40 60|11 6 3¢ N= &4 110 30 7.0
12 3 4e V= *A -620 30 70| 8 7 340= + K -140 10 9.0|12 3 3¢ N= +7 110 30 7.0
9 5 4eV+l *A -650 00 100| 9 5 3aV= + K -140 1.0 90| 8 7 INN= v8 90 0.0 10.0
16 & K97 Bésta kontrakt 17 4108 Bésta kontrakt 18 & K85 Bésta kontrakt
Vast v ED963 44 N =420 Nord v 976 54 O =-450 Ost v DKn85 2NT S =120
()Y + 1092 Ingen + E108 NS ¢ Kn2
»86 & ¢ v & NT #K9652 & ¢ v & NT #10743 & ¢ v & NT
4« Kn6 & E842 N 9 108 109 4 E9643 & KDKn72 N7 9325 4 D1043 476 N7 7 7 88
vKnl10752 vK8 S 9 108 109 v54 v KD832 S79325 v K93 v 10742 S7 88 88
¢ 64 ¢+ KD73 04 3534 ¢ Kn2 ¢+ K3 0549 117 ¢ K1095 4876 06 5555
#DKn92  #754 V 43534 #E1073 #4 V549 117 &E8 #KKn96 V65555
«D1053 a5 & EKn92
v4 v EKn10 vE6
+ EKn85 + D97654 + ED43
#EK103 #DKn8 #D52
Par Kontr Ut Res Poéang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 3 INV-2 v3 200 100 00| 9 6 24 O+3 vA -2000 100 00| 1 8 2¢v0-2 2 100 10.0 0.0
7 11 24 S+2 «Q 170 80 20| 1 8 440+1 +5 -450 40 6.0| 2 10 INS= +5 90 6.0 4.0
1 8 INN+2 a2 150 6.0 40| 2 10 44 O+1 6 -450 40 6.0| 5 3 INS= +9 90 6.0 4.0
9 6 24 N+1 v8 140 40 6.0 5 3 44 0+1 ¢7 -450 40 6.0| 7 11 INS= a4 90 6.0 4.0
12 4 14 0-1 «K 100 20 80| 7 11 44 O+1 +5 -450 40 60| 9 6 1¢ S= 3 70 20 8.0
2 10 3¢ N-1 »7 -50 0.0 10.0|12 4 44 O+1 *4 -450 40 6.0|12 4 INS-1 ¢+5 -100 0.0 10.0
19 & Kn54 Bésta kontrakt 20 87 Bésta kontrakt 21 «D8 Bésta kontrakt
Syd v D9872 3¢ S =110 Vast v 864 ANT V =-630 Nord v D82 44 O =-420
oV + D105 Alla + E108652 NS 410852
»32 & ¢ v & NT *82 & ¢ v & NT #E643 & ¢ v & NT
«KD86 4972 N8 9556 «D10 » EK5 N3 6 36 3 2 Kn9632 «E1074 N6 7 7 36
vKKn10 vE6543 S89667 vKnl1097 vD32 S36 363 v5 v K1076 S6 7736
¢ 92 ¢ Kn63 054776 + K94 ¢ DKn O 107 107 10 ¢ E97 ¢ DKn6 07 6 6 107
#EK95 474 V54776 #E1076 #KD953 V 107 107 10 »K985 D2 V76 6 107
«E103 » Kn96432 & K5
v- v EK5 v EKn943
+ EK874 +73 + K43
#DKn1086 #Kn4 #Kn107
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
8 11 3v V-2 &2 200 100 00| 2 1 3NO+1 a4 -630 50 50| 3 10 24 V+1 ¢+5 -140 10.0 0.0
3 10 3¢ S+1 vK 130 60 40| 3 10 3NO+1 43 -630 50 50| 2 1 24V+2 +8 -170 50 5.0
6 4 4¢ S= vJ] 130 6.0 40| 6 4 3NO+1 a5 -630 50 50| 6 4 24 V+2 ¢+5 -170 50 5.0
12 5 3¢ S+1 «A 130 6.0 40| 8 11 3NO+1 a2 -630 50 50| 8 11 34 V+1 v2 -170 50 5.0
2 1 2¢ S+1 4K 110 20 80| 9 7 3NO+1 46 -630 50 50|12 5 24 V+2 vQ -170 50 5.0
9 7 264V-1 +Q 100 0.0 100|12 5 3NO+1 a3 -630 50 50| 9 7 4aV= A -420 0.0 10.0
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22 4 D109862 Basta kontrakt 23 4 EKn1094 Basta kontrakt 24 & K96 Basta kontrakt
Ost vE 44 S D -2 -300 Syd vED76 3¢ V =-110 Vast v EDKn4 34 ND-1-100
ov ¢ 64 Alla + Kn3 Ingen + 95
#D1094 & ¢ v & NT »42 & ¢ v & NT D743 & ¢ v & NT
a- & EKKn N5 46 8 4 «53 « D6 N3 4585 & DKn7 «E8 N4 7 6 85
v 8653 v KKn7 S546 84 v983 v K1052 S345865 v 985 v K1063 S47575
¢ KD973 ¢ 10852 O7 76 409 ¢ EK109 ¢ D74 099857 *72 ¢+ KDKn3 096 758
&#KKn72 #865 V7786149 &#EKD7 #Knl1098 V99857 #Knl10852 #E96 V96 7538
47543 4 K872 4105432
v D10942 v Kn4 v72
¢ EKn ¢ 8652 + E10864
&E3 #653 &K
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
7 5 5¢D0O-2 43 500 100 00| 1 11 3NV-2 a] 200 80 20| 6 12 24 S= *7 110 10.0 0.0
6 12 5¢ O-3 a7 300 80 20| 6 12 3NV-2 a9 200 80 20| 9 8 INO= v2 -90 80 20
3 2 560-2 a4 200 6.0 40 9 8 3NV-2 a4 200 80 20| 4 10 INN-2 *K -100 6.0 4.0
4 10 34 N= +5 140 30 70| 7 5 2NV- a9 100 40 6.0| 1 11 INO+2 v7 -150 20 80
9 8 34 N= v7 140 30 70| 4 10 INV= a] -90 20 80| 3 2 INO+2 *4 -150 20 8.0
1 11 3¢ 0= a4 -110 0.0 100 3 2 INV+1 a9 -120 0.0 100 7 5 INO+2 *4 -150 20 80
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